
Spiel 1 Spiel 2 Gesamt

Spiel 029 13:58 B 1 GRUBER Augustine 47 + 57 = 104

B 2 HINTERSTEINER Josefa 50 + 58 = 108

Spiel 031 14:13 B 3 WITTNER Josefa 39 + 38 = 77

B 4 JAGSCH Maria 28 + 42 = 70

Spiel 033 14:28 B 4 JAGSCH Maria 43 + 28 = 71

B 1 GRUBER Augustine 40 + 50 = 90

Spiel 035 14:43 B 2 HINTERSTEINER Josefa 62 + 53 = 115

B 3 WITTNER Josefa 41 + 48 = 89

Spiel 037 14:57 B 2 HINTERSTEINER Josefa 50 + 64 = 114 # #

B 4 JAGSCH Maria 47 + 40 = 87

Spiel 039 15:12 B 1 GRUBER Augustine 52 + 51 = 103

B 3 WITTNER Josefa 42 + 36 = 78


